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An ecosystem is a community of living and nonliving things that work together.
Organisms, light, heat, soil, water, and the atmosphere are all parts of an ecosystem.
Any alteration to an ecosystem — such as changes in temperature, the kinds of
animals living there, or pollution — can affect all parts of it. This can be especially
obvious in the small, enclosed ecosystem of a pond.

In a pond, sunlight helps tiny plants called algae grow. Algae release oxygen,
which fish need in order to breathe. Algae are also food for other tiny organisms.
Fish eat the organisms and give off carbon dioxide, which plants use to grow.

Imagine what would happen, however, if something changed in the pond. For
example, if sunlight didn’t reach the pond because of thick pollution, or if the
temperature of the water grew colder or warmer, the algae wouldn’t grow. Without
algae, there would first be less oxygen. Tiny organisms would starve. Fish would
then die from the lack of oxygen. Plants would die without the carbon dioxide that
fish give off. Then larger animals that eat the plants and smaller animals would not
get enough food. Even humans, who eat the plants, fish, and larger animals, would
feel the impact. The whole ecosystem would suffer.

1- The first sentence of the passage, “An ecosystem is ... work together,”
1) is a warning
2) is a definition
3) refers to a problem
4) describes the importance of biological studies

2- Which of the following statements is NOT true according to the passage?
1) Humans would be the next to last to feel the effects of a lack of algae.
2) Plants would die in a pond after the amount of carbon dioxide decreased.
3) If algae stopped growing in a pond, the first thing to happen would be lack of
oxygen.
4) After the tiny organisms that eat algae died, the next thing to happen would be
that the fish would die.

3- The underlined word “which” in paragraph 2 refers to
1) plants 2) fish 3) organisms 4) carbon dioxide

4- Which of the following reasoning techniques is NOT used in the passage?
1) Use of examples
2) Referring to differences
3) Describing the steps in a process
4) Describing cause-and-effect relationships
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Websites come in all shapes and sizes. Some are easier to use than others,

and some are more attractive. Some of this is due to personal preference. Everyone
has (1) colors or designs, but there are features that seem to make a website
easier to navigate or more visually (2) us. For many designers, Apple Inc.
is an example of a company (3) an effective website. The homepage is
clean and neat. There (4) information on the page. It has large photos of
its products rather than small ones. It is user-friendly. The links are easy to see and
fast. There are many (4) tutorials for products, and they are short.

1- 1) various 2) appropriate 3) domestic 4) favorite

2- 1) satisfied with 2) interesting to 3) excited about 4) boring for
3- 1) has 2) and has 3) it has 4) which has
4- l)isalotof 2) isn’t much 3) are few 4) aren’t many
5- 1) helpful 2) available 3) hospitable 4) hopeful

Imagine a country that recycles 99% of its household garbage. For Sweden,
that’s already a/an (6) . Only 1 % of household waste goes into garbage
dumps, or (7) . How do the Swedes do this? Most separate their garbage
in their homes. This includes newspapers, plastic containers, glass bottles, light
bulbs, batteries, and electric appliances. In residential areas, recycle bins are only
three (8) away from a home. Fifty percent of the waste (9) burned
or turned into energy. Garbage trucks go around cities and pick up electronics
and dangerous chemicals. Pharmacies (10) . Sweden is a world leader in

recycling.
6- 1) reality 2) wonder 3) dream 4) issue
7- 1) destinations  2) landfills 3) plains 4) equivalents

8- 1) hundred meter

3) hundred meters
9- 1is 2) has
10- 1) don’t need medicines that people take

2) hundreds of meters
4) hundreds meters

3) are 4) have
2) take medicines that people don’t need

3) that people don’t need take medicines

4) take medicines to people that don’t need them
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